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Q.1

Ans

‘FaFell’ (‘Kathakall') Fca &0 &1 A7 ToF gl
2. afferaTg

Question ID : 863950220
Chosen Option : 4

X 2 3ifaen
v 3 e
X 4 Fete

Q.2

Ans

AR & Tl IIISCHId Dl o7
X 1Sl ug. gies

Question ID : 863950228
Chosen Option : 2

o 2 TH. TEThsT
X s . & oy
X 4 . feqrIqgeas

Q.3

Ans

Teflthel gdd gl W Fod g2
21 et fr @Er

Question ID : 863950233
Chosen Option : 1

X 2 Oledh Te
X 3 fgq AN
W 4 3E AR

Q.4
Ans

A AT 3 vh w9 Hew 9 F Al & Jiear HeT W e grani @ £7

X1 Rd & Teedfa

Question ID : 863950205
Chosen Option :3

X 2 faca gfe
W 5 T d 9 & 7199t (RBI)
< 4 faeg =4

Q.5

Ans

Gﬂ?ﬁﬁmﬁaﬁmﬁ?aﬁﬁwmaﬂwwﬁ?{

Question ID : 863950236
Chosen Option : --

7 T BANK
EXAM

EXAMS %2y
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V 2 39 FEcd
X 3 gimffa died F18
X 4 FHSAR gl Fis

¢ zaa @ WA 1 g

Ans X FaTS Sget WX adATe 1 96 ST B

Question ID : 863950237
Ans J 7 3TF(‘T (Speed} Chosen Option : 1
/< 2. @47 (momentum)
< 3. fa¥amge (displacement)
X 4. 931 (velocity)
7
Q7 geftarer arfafer &1 FRoT F=@ &7 Question ID : 863950226
Ans x 1. 3ThYg Chosen Option : 4
< 2. geATHT
X 3. srEaresgey TRufaar
v & Fferesa A
8 AL adam
Q 3 dfafas (RTI) & dea T A T FHT 72 Question ID : 863950231
Ans X 1. fqeTy ©H. Hcle Chosen Option : 3
X 2. drorer ariely
X s 4L T, B
V4 3. &, AT
9 i i .
Q.9 sra 3 ifeciern & o Bhdhe fava &9 2015 o1 Jmaela el 9 g3 «1? Question ID : 863950225
Ans x 1. 3iThelg Chosen Option : 4
v 2 s
/3 ufzgag
X 4 Aaae
Q10 2015 A 998 0 AT, KR TG o2 TR, TS el Question ID : 863950206
Ans X1, & & I[trgqﬁ' Chosen Option : 2
v 2 g & Tsgufd
X 3 GgFd oA IARHT (USA) & Tsgaial
X 4 HETeT aLr
O i@ wuet & O i @ Fud @gr 87 Question ID : 863950216
Chosen Option : 4

X 2 a9AE 3R FaS U gEl § e g
X 3. 37 S5OSO dr9HE U ST EdT 2
V' 4 FarE gge YT a9 HH g Slar 2

B




Q.12 ‘Which of the following does not belong to the group?
Ans X 1. Unique Identity Card

Question ID : 863950212
Chosen Option : 3

v 2 Permanent Account Number Card
#< 3. Multipurpose National Identity Card

X 4 Aadhaar

Q13 98t iy sfemeper Hers F1 GROTH gl
Ans X 1. gefieuT (forestation)

Question ID : 863950227
Chosen Option : 1

X 2 gaR9uT (afforestation)
/< 3. gl g=loT (reforestation)

v 4 g&t $r TS (deforestation)

Q1 =2y (Hatti) ez A &gl 9 Faa &7
Ans X affereg

pa )

Question ID : 863950215
Chosen Option : 4

v 2 e
X 3 e
K 4 T

Q15 erfardy (Dhansiri) =141 68 T ¥ 3R gl g7
s of 1 AmaTTels

Question ID : 863950214
Chosen Option : --

X 2 frgm
< 3. e
X 4 FreTerg

Q16 oyt A A, a¥q s gomeh &1 F=1 Ades a4
Ans X1 o & foIT A 3T Q93 & IeE-geE

Question ID : 863950207
Chosen Option : 1

v 2 Firer 3T Qa3 &1 ycge Rt

X 3
urq & e & v At AR At &1 3eE-gae

X 4 arer 3 Gansit &1 3vcuer [AfaAg

O ot (USB) T 3797 72
Ans o gfade @iRae 58

Question ID : 863950241
Chosen Option : 1

X 2. gfelsh WHreT ST
X 3 gheie diige ds
X 4 geArses dHS o5

018 Prafaf@a # @ ueids 399g &7 A 9a1v|
Ans . fafa (Sirius)

Question ID : 863950240
Chosen Option : 1

X 2 g% (Sun) BANK
EXAM

EXAMS %2y




W' 2 d@g#Ar (Moon)
< 4 99 (Mercury)

Q.19 Prime Minister Jan Dhan Yojana aims at

Ans

< 1. financial exclusion

Question ID : 863950208
Chosen Option : 2

/X 2. getting low-cost deposits for the banks
/< 3. making the poor people rich

v financial inclusion

Q20 5018 FiAAdT Wel T AT gl 9L gled arell 7
Ans X 1. gaeerer, Afieisl (Hambantota, Sri Lanka)

Question ID : 863950223
Chosen Option : 4

X2
34, Gfaior 3rhh1 (Durban, South Africa)

< 3. ugAled, F131 (Edmonton, Canada)

v 2
TMes e, e (Gold Coast, Australia)

Q21 ‘yzarscy fdeger (‘Midnight's Children’) & oi@® &id g7
Ans 1. arelraT aEdie

Question ID : 863950209
Chosen Option : 4

X 2 Jge serd
/< 3. 3T=qel FHelrH
v 4 FeAR T

aedmaea _ §

Question ID : 863950238
Chosen Option : 1

Question ID : 863950221
Chosen Option : 2

Q.24 g1 & qrogafa B fREF ganT ATy Foms S §?
Ans o 1 IRE & FEA warTedRl

Question ID : 863950229
Chosen Option : 1

X 2 gereT HAT
X 3 3qrgafa
X4 SR Fede




Q25 fre Tael & oldd Fie A?

Ans

X1 AT AT AgE
X2 Y. 3R, 3
< 3 grer I faoe
V' 4. FgTeAT el

Question ID
Chosen Option

1863950222
:3

Q26 Fraftifaa cof # ¥ fradh gdufas oaa7 2
Ans X1, et

X 2 AT

W 3 AT

X4 e

Question ID

Chosen Option :

1863950219

3

Q27 frgehr 3ufEafa & FROT 7T F1 {1 o giar 87
Ans o 1. Bt HTFETSS (Ferric oxide)

< 2. AT (Moisture)

/X 3. Sl9-919s dcd (Bio-nutrients)

X 4 HaeliA AeFaEs (Magnesium oxide)

Question ID
Chosen Option

1863950217
1

Q28 Ffy gateAaT & forw &g &1 Sl a1 9oR Jga7 &2
Ans  of 1. FrermE

< 2 e

X 3 el

X 4 die

Question ID
Chosen Option

1863950213
3

42 Frer fdEier & dofiaee oy Sioral T dear aan?
Ans  of 112

X211

X313

<410

Question ID

Chosen Option :

863950242

1

Q30 ¥ SrAT A 9T f&AT ST arer sATST &7
Ans - X @ o ERIAUT & & AT 3TEHIOT

X 2
FHAT ST FeT & T sedare R S aren Areas

X3 3l e @1 ol
v o AgRIfG & faT A3mTEsT

Question ID
Chosen Option

1863950211
12

Q31 uther efay Fgl W Tua g7
Ans “f 1 fTﬁrI{

X 2 fSerar

X 3. arfifarest

Question ID
Chosen Option

1863950234
1




X 4 ot

Q.32 sma 3R Tifeare & da Riear @asitar (Shimla Agreement) - 1972 & agel $T d6% &1 AT Hgl X Rhar

Ans  of 1 werEelr fafeEe (Ellerslie Building)
/X 2 98 FI¢ (Barnes’ Court)
X 3. fagre @lal (Viceregal Lodge)
< 4 3T Faa (Gorton Castle)

Question ID : 863950218
Chosen Option : --

Q33 drdfiefizns (BCCI) fraerr g@feca = 272

Ans X1 913 X fhdhe US Felel B SfEam
V' 2. 318 3% fhehe dhelel B e oa SfEar
2 3. 912 3T fhehe Felel BT SfEar
X 4 &5 ¢ seler fhshe 5o Sf3an

Question ID : 863950243
Chosen Option :3

Q.34 el @1 9Rs otel fhem fF & ArFeTarel A ST -7 a1?
Ans o HTRY ATE

X 2 st

X 3 Sgifi

4 ergsTet

Question ID : 863950235
Chosen Option : 4

Q.35 3gar AT & v M@ F § e 39T fear sar §7
Ans X1 AT (Manometer)

X 2 s\ ATHIET (Thermometer)

« 3 3gaETT (Hygrometer)
X 4 a¥o-A (Hydrometer)

Question ID : 863950239
Chosen Option :3

9% T F ged AFER gemeAT i 92
A of 1 AR AT

X 2 ggerEy

X 3 agor g

PASER -1 A A T

Question ID : 863950232
Chosen Option : 1

Q37 e g 1 GeEgar & afa =4 g2
Ans X]Qa-é-

Question ID : 863950230
Chosen Option : 2

X25q§

v'ig ad

X 44 a8
Q38 Caferfafear s JiTerseT Bl Question ID : 863950210
Ans x 1. E@Eﬁfﬂ Chosen Option : 4

# s BANK




23 fadfae
v 4 fagaer

3 IEdiuer & TAAW ATT IS g7
Ans X 1. gt (PepsiCo)

' 2 faar 33 (Vivo India)

/< 3. iEThl (Vodafone)

7< 4. pIFT Fiel (Coca Cola)

Question ID : 863950224
Chosen Option : 1

Q40 et (RTGS) &1 3t 272
Ans X1 TaT TIsH AT JeoAc
X 2 RIe agd I3 e
v 3 e aga Atg Jeedic
X 4 T Trsd fifgrew deedc

Question ID : 863950244
Chosen Option:3

Q.41 ™ FR #1 € e Rs. 5 o don whals 1 e Rs. 70,000/~ o1 Sie | 2% 1 ge &1 5@ s
Hed W 30% A g or F=w wm Bef Ao = oar?

Ans X 1.Rs. 3.43 @@
v 2 Rs. 3.92 a@
/< 3 Rs. 3.5 o
/< 4 Rs. 3.99 @@

Question ID : 863950269
Chosen Option : --

Q.42 = s e 5 9l A 120 fesAL/Eae o & gorar g1 3 g0 # 4 €97 A 77w F e @ afd w@fge
aufre

Ans X 1.130 fa. A /Her
X 2160 fo.#f1./ger
< 3140 .+ /ger
v 4 150 f. /e

Question ID : 863950266
Chosen Option : 4

Q.43 &Y Y@r3t & GHIHOT y = x + 34 3y = 5x+ 150. dl y &I AT FaT &7
Ans X163

<238

V35

X429

Question ID : 863950272
Chosen Option : 1

Q.44 P B #5 F 113 a1 F1 12 AT 3 a7 @ha §1 Q 38 F1 & Y% #00 #1 10 ReA 7 #ar 1 R 54 F07 F
3Mer 7aT Y 19 AT H X Fhar §1 S 39 HH F /5 e 1 8 AT F X ahar 1 Fla o §7

Ans X LR
X2Q
vp
X4s

Question ID : 863950263
Chosen Option :3

Q.45 g1 udrcHs qyulies Heansil &1 ol 30 § AN 3o 3ial 6 §1 AP 0 gAr HI?

Ans X 1212

a0 BANK
EXAM

EXAMS %2y

Question ID : 863950246
Chosen Option : 4




X 3218
v 2 216

Q.46 T 8 g 3 42 fHa H1 gh 7w T §1 qF 4 WG F oAl F wRF g Yo AR a0 8 FHALEE F
afdr & st gl wsfra & off sar &1 o9 o fraeh g Yew au 2

Ans  of 1. 90 fi. AT
X 221 A
X3 g faa
X 44 fFA

Question ID

1863950265

Chosen Option : --

Q.47 e 37t T ergeaH @AME (LC.M.) 24 &1 §Ead 3 & s A § 2 @At #1 o 9 w17
Ans x .18

X216

V'3 20

X422

Question ID
Chosen Option

1863950253
12

Q48 37eraT 3/12 I gidRId €9 & Fad|

Ans X1 30%
< 2 20%
v 3 25%
X 4 15%

Question ID
Chosen Option

1863950257
:3

Q49 foraft agaret &1 Al HoT 135° F, AT OHE |
Ans o1 3TSTareT B
X 2 gt §
X 3 9eId §

X 4. =t ST dre ageST B

Question ID

1863950274

Chosen Option : --

Q.50 T FHIAK TGS F 4D 92 T A A AN FUE 23 M. §, A wH HOR ___ gwm
Ans X 1.34.5 H.

v 2 4 A

X 3.8

X 4 69 .

Question ID
Chosen Option

1863950261
3

Q.51 T gFFaR & 20 goiel f@ellel Rs. 1.50 fdr &1 &3 & @l 10 Fellst T A g 101 364 49 Rs. 2 1 T
@ e 3T W yfderd Reaer ar?

Ans X 1. 27.87%
< 2.33.33%
v 3 27.77%
< 4 33.67%

Question ID
Chosen Option

1863950270
:3

Q2 gfx P . Q:R=4:5:6,arP/Q: Q/P : RIP =2
Ans X 1. 45:24:28

X 2 95:45:94
X 3.45:25:24

BANK

EXAMSG2>

Question ID

1863950256

Chosen Option : --




W' 4 24:25:45

Q.53 Rt 3maa &1 Aot 5 A o s afem 14 A &1 smaa i 9l Far g7

Ans X1 g @A
< 20 g
X34 g
v 43 g

Question ID :

863950260

Chosen Option : --

Q.54 =i 6 3eeh, 9 Afges & F F 96 ol A T Fhd T Al M P F 12 e IR 6 I Fed el F

Ans X 1. 56 T
X 248 fea
X 342 fee
v 4 36 fea

Question ID :
Chosen Option :

863950262
4

Q35 72 48 & Fgcdd TAME (G.C.F.) Far grm?
Ans X1-36

<212

X318

v 4 24

Question ID :
Chosen Option :

863950252
4

456212 x 0.05 / 0.530 & HeT BT TT HL?

Ans - X 1.0.15
<2033
<3012
v 4 0.20

Question ID :
Chosen Option :

863950247
4

Q57 0.005 x 0.0155 =7

Ans X 1.7.75 x 107
#2775 x 10*
v'3 775 x 10°
#4775 x 10°

Question ID :
Chosen Option :

863950248
2

Q.58 @ w1 FgeaH FAMAEd (H.C.F) 12 & 3R 3w =yeas wamaaed (L.C.M.) 252 §1 afe v wear 36 8,
gall dEr 9ot &1

Ans X152
X242
<336
v 84

Question ID :
Chosen Option :

863950254
4

Q59 1786 + 15.685 - “?' = 1758.562 & AT 9dl H1?
Ans X 1. 42.231
v 2 43123
< 3.43.231
< 4 43.321

Question ID :
Chosen Option :

863950249
2




80 gfe P:Q = 23 3R QR = 4:5, @ RP = ?
Ans X 1. 5:2

v 2158

X 325

< 4 8:15

Question ID
Chosen Option

1863950255
3

Q81 gfe x2 + 13x+ 42 = 0, @ x F AT FT N7
Ans X 1.6 am 7

V2.7 -6

X3agar7

X4 7ame

Question ID

Chosen Option :

1863950271

2

Q.62 W el P 4 Rl 7 T wher 1 B 9 C 3 F F 3 A A K whd §1 W T C 3 b A 2 oAl A
FERS &1 B F 3 3h T A Frael 9 @2

Ans of 112 TeF
K28 fea
X34 fea
}(4.5ﬁt—,[

Question ID :
1

Chosen Option

863950264

Q.63 wF a¥qg et oI Rs. 220 8, 36 #ed WX 14% FT aur 0.5% ¥aeo -d 39 (CESS) | Fer & faer
Tfdr frcetr &7

Ans of 1. Rs. 251.90
# 2 Rs. 251.30
# 3 Rs. 253.10
/< 4 Rs. 250.80

Question ID

Chosen Option :

863950259

1

Q.64 Rs. 5000 W 12% arfis &x & 3 awf & fore @memor =amer 3 wqfe =er 1 URE 1 FaT 9 gen?
Ans - X1 Rs. 144.00

< 2 Rs. 72.00

/< 3 Rs. 216.54

v 4 Rs. 224,64

Question ID :
14

Chosen Option

863950267

9570 @ar 100 & ora IseT HEATH FT AT IAT F
Ans - 1413

2 2409

#3395

v 4 492

Question ID
Chosen Option

1863950245
14

Q.66 ¥FEfaag HFHvT PQR &, 3MUR & FI0T PQR @2 PRQ §HM &1 = PQ #1 TS 84 391 § @21 9o PR (k
+ 35) gFS ¢, ° k @7 A= grm

Ans X184 s
X 2119 SHre
V'3 49 z@S
X 4 35 SFES

Question ID :
:3

Chosen Option

863950273




Q.67 3% 9 24 Hic g%, 32 9 T 16 R (N) ¥ FAF a7 B 9AF e F i =l § 57w
i S @ T ol AW 7 a9 g fegnff # frae awqe e

Ans ?{'L 6

Question ID
Chosen Option

1863950251
1

v29
X3 7
X 48

Q.68 3 af @um 8 ast & faw 12% &1 ox ¥ el MY W T TUROT =0 FT TG F2T FA?

Ans  <71.1:2.33

Question ID :
Chosen Option :

863950268

v 2 1:267
X 3.2.33:1
X 4 2671

Q.69 950 & 15% + 340 & 13% + 720 & 17% I HAF 9aT |
Ans X 1.201.40

Question ID

Chosen Option :

863950258

4

X 2.202.20
X 3.205.20
v 4 204.10

Q.70 (0.7 x 0.7 + 0.09 x 0.09) + (0.14 x 0.14 + 0.18 x 0.18) = ?
Ans  X1.0.33

Question ID

863950250
Chosen Option :

v' 2025
X 3067
X 40.79

Q.71 557 fheq & gof ot fF RF 17 L F 3o Foawer yofdia wTm g -
fEHAT : gdd

Ans o 1. FrerHEET: walr

Question ID

Chosen Option :

1863950289

4

X 2 gradr ¢ AT
X 3 gHICE: Ta=TarE
< 4 diger: gt

O72 qregt & AR NS R AT ¥ g @ Fwe A -
Ans 1. Opaque, Transparent

Question ID
Chosen Option

1863950288
14

+' 2. Spontaneous, Matural
/< 3 Mandatory, Optional
< 4 Negligible, Significant

Q.73 3@ C @ wi =, A r 3eh +, N an 3ef +' 30 E @ 3ief ' g, ot 3CON2EANSEINGATNG 7 #rer wrarr glam?

Ans X 1.10/3

Question ID

863950284
Chosen Option :

v' 2 7/3
X 3.8/3
X 4 2/3

Q74 Ffe BOX, ANW 2, o KITCHEN EFEBW (
EXAM

EXAMS %2y

Question ID

1863950281




Ans 1. LHUBIDO
< 2 JJSDGDM
v 3 JHSBGDM
Z 4 LJUDIFO

Chosen Option :

Q.75 =ft 5@ Giwor # wea [T w &, O FetatEa aieer # § Fi9 § fegl @ 9o g ange?
8-12x1+5+53=1

Ans ?('1_ o 3#11._%
X 2x 3+
\fi3- ® 3#TI =
X4y 3t -

Question ID

1863950283

Chosen Option : --

Q76 gfg 16 : 272, d@r 22 : ?
Ans  of 1506

< 2 462

< 3440

2 4516

Question ID

Chosen Option :

1863950291

3

Q.77 w fm it &@ &< e F w1, “ag 7T 3R AL Faw F 7w §71 Aer A i@ F 5w R T §2
Ans ?<r1'ifﬁfT

X 2 g1

X3t

v drar

Question ID
Chosen Option

1863950290
14

Q.78 forqr 13 3 924, GEL ¢ 3R 70582, WHITE &1 45908 T 7
Ans X1 LIGTH

X 2 LITHE

v 3 LIGHT

X 4 LITTLE

Question ID
Chosen Option

1863950278
:3

O siger & RFd (?) TAE & g H I AT :
YXZ, VUW, ? , POQ, MLN.....

Ans - X 1RST
< 2 TSR
2 3 RTS
v 4 SRT

Question ID
Chosen Option

1863950275
14

Q80 i@ @S9 gHEEar &1 9ar S
greft, dfm, I, @=ay

Ans XK1 A @ dhad g D g
' 2 3T TSR Teld], ST ST Thell 2

X 3 IS AT A6T gl
X4z a9 & dir g BANK
EXAM

EXAMS %2y

Question ID
Chosen Option

1863950287
12




Q.81 swem 0, 1, 1, 2, 3, 5, 8, 2, 21, 34, 55 & (?) & HA F IaT MG

Ans X1_ 14

Question ID
Chosen Option

1863950277
4

X 211
X 312
v 413

Q.82 yfg LASER, @#%+! & 3T NOT, %:& & df TRANSLATOR == glen?
Ans  f 1. &1#%S@#8:

Question ID
Chosen Option

1863950279
1

X 2 8#%S@18:#
X 3. Bl#%@SH#8:!
X 4 BH%@#S&:!

Q.83 gfg CAMERA &1 XZNVIZ fer@r sirar E, ar FISHERY =1 &7 for@r smean?
Ans X 1. URSHIVB

Question ID :
12

Chosen Option

863950280

v 2 URHSVIB
X 3 URSHVIB
X 4 URHSIVB

Q8 o wile: Fe, ar 3RI@®:?
Ans 1. Ar

Question ID

Chosen Option :

1863950286

2

v 2 As
X 3 An
X 4 Ac

Q85 gf& Canine : Dog, @ Bovine : ?
Ans X 1. Cat

Question ID
Chosen Option

1863950285
:3

X 2 Horse
v '3 Cow
< 4 Monkey

Q.86 = siwariord el = 3 '« WER Fgar I, ar 18+7-23+7x45 1 AT FT gHm?

Ans x 1. .5

Question ID

Chosen Option :

863950282

1

X2 1
v 4
X422

87 simer & R (?) TAIA & UG H I AT
.., DE2, GH3, ?, MNS, PQ6.....

Question ID
Chosen Option

1863950276
:3

Ans X1 KL4
X 2 K4
v 3 JK4
X 4104




Q.88 e T A AT F gwaild ged I Tooll g1 AHF F ¢ 3 frex F=w Faw B2 _
Ans 1 Question ID : 863950292
x " G Chosen Option :3
X 2. greT-arar
X 3. farga
VERLGISE]

Linked Answer Question:

fArafaf@d gaast & o« & W 3K ga% TR | 3ca &

A, B, C 3R D aefRos &7 # a9, gfau, digr 3R gac 1 wdg atd &1 39+ tdicer I8 JfeafHa &7 #
UF, Jeuid, Al 3R gl §1 ver <afda oad ue ¥g 3R vh g9 &1 9Hg X dhdl ol

1. A @ & dF 3T WG § 7 8 e T g

2. B @I gHel 9dg ¢ cifthdd 38T GHIGT A6 o ol Ak § o &1 gall
3. o =ufea & qedt qdg § 38 cgfe 3K e 9w =7Et &

4. D =T vHfeeET g Seedid gl

SubQuestion No : 89

Qés A ¥ e HAIA i 41 g7 Question ID : 863950296
Ans ?(1- T P’.‘ ) Eﬁa—f Chosen Option : --

v 2 oifer - el

X 3 gzdl - Tgfey

X 4 T - I

Linked Answer Question:

FrAfaa gaenst & «oe 7 W 3T 395 YR W 3ca? §

A, B, C 3k D aefRas &5 # amE, cfan, Jigr 3R Tl #1 wig = 1 399 ke 3w dfafEa w0 &
e, geeaid, afer 3R gzt 1 ve =afaa Faa v 7% R ve g9 F 96 # dSan gl

1. A @I o dl 3ieT 94 § o & aelld 946G ¢l

2. B &I TAN YHg & ofehed 3GhI qHGIGT UG o dl Ak & o a1 gl
3. g =afeFa @l godl udg § 38 cgfold 3N el qdg w8 2

4. D T yHiger 77 Fgeqid gl

SubQuestion No : 90

9 s
Qo Y ThEST THAIGT T 87 Question ID : 863950295
Ans ( A Chosen Option : --
<2B
K3 C
< 4D

Linked Answer Question:




f=fafaa gaamt & coe 7 W 3R 3F 3R W 3w’ §

A, B, C 3R D o &7 # e, gfom, a1 3R T3iel 1 wde #d §1 39+ qdfeer 77 dfafaa a7
e, gevuid, A 3R gzt 1 ve =afad Faa & 7% AR vE U F 9Hg F HSan Bl

1. A @l & df 3ieT 94 g o & 3elld 946G ¢l

2. B @I gHell 9Hg ¢ olfthel 3HT GHAGT UG o ol Ak § o & gl
3. for| <afedd & gzdl wdig & 38 i 3 Iela wdg «1at g1

4. D &1 9dfger 7E eI g

SubQuestion No : 91
9 -
% C @ Pl @ o7 g §7? Question ID : 863950294
Ans x 1 ﬁ Chosen Option : --
< 2 Tarel
W 3 drer

7< 4. el
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